Exercise sheet 5

Exercise 1

The solution of Exercise 1 can be found at “The Calculus of Computation” by
Bradley and Manna on pp. 140-142.

Exercise 2

See next pages.



m

n

K >0 — wp (x >/O) Ktz k=lc ) Qsswm= k£4>

) E Y)*o"' Ua\{d
¥= 05
k = O.“"‘

X »0 ——>(l€5( — X 2k



1 I S 2 wp(xa% (4B XNy, 2 Lsx% x::x—k)

w?(x 70, Opsume k{x) x'= x—\c.) 3
= wp (_)(—-\L?',O) OLSSLIMR k&’(> =

= k £X 5 X3k — valid




n

)|

m

22 > x7zk —wnot ualid
k= -\
3(‘——\-5




4. k 20 — wy (x %0, t=X-ki assume kgx)

WP(K}0| X = X—k;, O35wme lcSX) —
‘ﬁx L"‘P (k-’ix ——5&7/0) K‘\:)("‘k—) =

= L & x—k — %X—kZ0 =

- X B2e — x 7k

le. 20 -—>(x ;2_\1 = xz\¢> — valid



L Ll s s LA SR R R S e

5 Y3z0o — w(x»«fzwz, (1=l ] Qsiame X 50 |

wp (=) 2 w§ (x T 242073, XEERAY a.sswsocj

= wP( 33&‘&?2»3 ?’5) L= 2y Qsswn X?O>i

Z

L"\’C*"O'—"' %’“*‘237371::“4)——;
Z ah 50 — W ABE2YT S =
2 g g vo 2 AT

B:O ot valid



	ex05-sol
	ÜB5 - sol

